DIRECTIONAL CONTROL VALVES (PRE-FILL VALVES)

O MODEL=z =
PF-80

@ SPECIFICATIONS =

PF-80F

1E IR i)

F EFLANGE CONNECTING TYPE zwin

1
Model Number Maximum Pressure Connecting PT Maximum Flow Weight
BAER BXAED bar EREDR BARE Ipm E 8 Kg
PF-50 250 (3625 psi) . 117 26 b
SPF-50 400 (5801 psi) 2 200 (52.84 gpm) 1726 1bs)
PF-80 ! 2.8 (6.2 Ibs)
PF-80F 250 (3625 psi) 3 400 (105.67 gpm) 8 (17.6 Ibs)
SPF-80 400 (5801 psi) 2.6 (6.2 Ibs)
PF-90 ; 3.8 (8.38 Ibs)
PF-90F 250 (3625 psi) 3-1/2" 630 (166.4 gpm) 11.3 (24.9 Ibs)
SPF-90 400 (5801 psi) 3.8 (8.38 Ibs)
PF-100 : 6 (13.2 Ibs)
PF-100F 250 (3625 psi) 4 1000 (264.1 gpm) 14.5 (31.96 Ibs)
SPF-100 400 (5801 psi) 6 (13.2Ibs)
PF-125 _ 10.8 (23.8 lbs)
PF-125F 250 (3625 ps) 5" 1600 (422.7 gpm) 23.8 (54.47 Ibs)
SPF-125 400 (5801 psi) 10.8 (23.8 Ibs)
PF-150 , 23.5 (51.8 Ibs)
PF-150F 250 (3625 psi) 6" 2500 (660.4 gpm) 37 (81.57 Ibs)
SPF-150 400 (5801 psi) 23.5 (51.8 Ibs)
PF-200 250 (3625 psi) "
SPF-200 200 (5301 pe) 8 4000 (1056 gpm) 50 (110.2 Ibs)
Fluid Type s m = ISOVG 32,46, 68
Viscosity s cSt 10~400 (59~1854 SSU)
Operating Temperature &g °C -15~70 (-5~158°F)
Contamination Level 555z 1S04406. 21/19/16 NAS1638,10

®All screws with metric measure , if require inch measure , please contact us. Fiiii E#E s A HEERER

@ HOW TO ORDER i

PF — 80

n VALVE SERIES s5s#®
PF= Directional Control Valves
(Pre-fill Valves)

B suePLATE MOUNTING SIZE: rzoa

50= 2"(50.8mm)

80= 3"(76.2mm)

90= 3-1/2"(89mm)

100= 4"(101.6mm)

125= 5°(127mm)

150= 6"(152.4mm)

200= 8"(203.2mm)

F : Flange FoEmE
None : Standand # : %=

€ Example
EREREG

CEBEHERERNEE

n TYPE OF FLANGE Z®is

None : No Flange W ORBERE
P : P Port Flange P:# P OEH
T : T Port Flange T T OEE
W P &T Port Flange WP RTO®RRM

+i Only F Type With Flange & ' Z@RBEFE2F £ &

3% This valve can be replaced
by MPC-BD series prodect.
LGRS T A MPC-BD RIIE 8BS (58

@ CONTROL PORT(S)
IER T
. PL
X
& CL

3% 1, While Pilot Pressure and needs kept Pressure
Power under 140kgfcm’

2. Series PF Before turn on and Please firstly
Loading out of Pressure. If nothing this step
and cause to be Impossible turn on

A (The Pressure of Power of Pilot needs more
than *P* Port 4.5Multiple. )
1 EBENBUMAEL0KG /cn BT
PR MBI B ENE NSRS BE
BEABAKK OFAD4.5ELLD

I 03



DIRECTIONAL CONTROL VALVES (PRE-FILL VALVES)

52 R PF SERIES
@ FLANGE DIMENSIONS x®rv&
L
D1
PF-
* C1
T side flange maizm Al
B1
200
o]
. T
5

| x
MODEL | J A1 B1 c1 D1 L H1 G1 SCREW QT K
PF-80 | 45(1.77")| 12 79 (3.11")[73 (2.87")[90.2 (3.55")[105 (4.13")[146(5.75") 25(0.98")| 5(0.2") | M16 x140L 18(0.71")

(0.47") ( 6
PF-90 |50 (1.97") 14(0.55") [91 (3.58")| 88(3.46") [102.8(4.04")120 (4.72")165 (6.5")| 27(1.06")| 5(0.2") | M18 x170L 6 |20(0.79")
PF-100 |55 (2.17")| 18(0.71") - 108(4.25")|115.5(4.55")|135 (5.31")[191(7.52")| 22(0.87")| 5(0.2") | M20 x190L 6 22(0.87")
(0.98") 6
(1.57") 6

PF125 |65 (2.56")25(0.98") | - [132(5.2")1412(5.56"[165 (6.5")| 238(9.37")| 25(0.98")| 5(0.2") | M24 x230L 26 (1.02")
PF-150 |75 (2.95")| 40(1.57")| 155 (6.1")[ 155 (6.1")[167(6.57")181(7.13")280(11.02") 30(1.18")| 7(0.27") | M30 x260L 32(1.26")
PF-200(90 (3.54")( - - |2ts@ssiferogtosey| - periaasiao (157 - M30 16 [33(12.99)

PF-sk CLside flange cLmze

M m|o|0w>

MODEL A B C D E F G H | L

PF-80 |71 (2.79")| 73 (2.87")90.2 (3.55"[115(4.53")(146(5.75"{180(7.08") 10(0.39")| 23(0.9") 45(1.77") | 12(0.47")
PF-90 |82 (3.23")|88 (3.46")[102.8(4.04"[125(4.92") 165 (6.5")| 206(8.11") 10(0.39") | 23(0.9") [50 (1.97")[14 (0.55")
PF-100 [100(3.93")|108(4.25")115.5(4.55")[140(5.51")[191(7.52")240(9.45")[ 12(0.47") | 28(1.1") |55 (2.17")[18 (0.71")
PF-125 [112(4.41%[132 (5.2")[141.2(5.56")170(6.69")| 238(9.37")[ 300(11.8")[ 15 (0.59")| 20(0.79" [ 65 (2.56")| 25(0.98")
PF-150 - [168(6.61"\167(6.57")[220(8.66")] 280(11.02'{335(13.19"| 15 (0.59") 30(1.18") [ 75 (2.95")|65 (2.56") F

PF200| -  [218858"270(10.62" -  [367(14457422(166" - [40(1.57")|90 354" - m

I 0+



DIRECTIONAL CONTROL VALVES (PRE-FILL VALVES)

PF SERIES 75 D458 R i )

4@ FLANGE DIMENSIONS :mrva
PF-*% F Series T side flange e

D1
Cc1 {
A1 ‘
B1
|
i |
s \
Tt T
= i |
ST B \ [,
o
M
f
N J
MODEL Al B1 c D1 1" H1 G1 [SCREW |QT | K M N
PF-80F | 90.2(355" | 71(2.79") | 120 (4.72") | 142 (5.59")| 23 (0.95") |15 (0.59") | 5(0.2") | M12x40L| 6 |G8O |77(3.03")|85(3.35")| 2.4(0.09")
PF-90F | 1016(4") |88(3.46") [135(5.31") | 160 (6.3") | 23 (0.95") |15 (0.59") | 5(0.2") | M12x40L| 6 | G100 |97(382")|105(4.13")| 2.4(0.
PF-100F | 115.5(4.55") 106 (4.17")| 148 (5.83") | 170 (6.89")| 23 (0.95") |15 (0.59") | 5(0.2") | M12x40L| 6 | G115 |112(4.41") [120(4.72")| 2.4(0.
PF-125F | 141.2(5.56") | 130(5.12") | 175 (6.89") | 200 (7.87") | 31(1.22") 15 (0.59") | 5(0.2") | M12x40L| 6 | G140 | 137(5.39")|145(5.71")| 2.4(0.09"
PF-150F| 167 (6.57') | 155 (6.1") | 200 (7.87") | 225 (8.85") | 31(1.22") [15 (0.59") |7(0.27") | M12x40L| & | G170 |165(6.50") [180(7.09")| 4.6(0.18
PF-*F Series CL side flange cLz®
| |
| | L
} L F
‘ T
| l H
| | c |
T T T
A
B
} C
D
MODEL| A B c D E F G H
PF-80F | 71(2.79") | 90.2(3.55")| 146 (5.75")| 180 (7.09")| 22 (0.87") | 45 (1.77") | 10(0.39") | 23 (0.95")
PF-90F |88 (3.46") | 101.6 (4") | 165 (6.5") | 200 (7.87")| 30 (1.18") | 50 (1.97")| 10(0.39") |23 (0.95")
PF-100F | 106 (4.17")[115.5(4.55"} 191 (7.52") | 230 (9.06") | 32 (1.26") | 60 (2.36") | 12(0.47") | 28(1.1")
PF-125F | 130(5.12") [141.2(5.56"| 230 (9.06")| 270 (10.6") | 50 (1.97") | 80 (3.15") | 15 (0.59") | 20(0.79")
F PF-150F | 155 (6.1") | 167 (6.57")[260(10.23")| 300(11.81")| 40 (1.57") | 80 (3.15") | 15 (0.59") | 30(1.18")

I 05



DIRECTIONAL CONTROL VALVES (PRE-FILL VALVES)

75 R =

@ DIMENSIONS s=zrvs

PF-%

PF SERIES
75, PLT D"
A
ﬁBj
T T
w
m M
gh)
E e i)
O-ring
H lele2
MODEL| sizE A B c D E F G H
PF-50 | 2" |82(3.22")[32(1.26")|28(1.10") PT1/4 |55 (217" — G60 -
PF-80 | 3" [128(5.04")43 (1.69") 29(1.14")| PT1/4 |78 (3.07")|106(4.17"} G8O |6 (0.24")
PF-90 | 31/2" |143(5.63"|50 (1.97")|35 (1.38") PT1/4 |87 (3.43")[125(4.92") G100 |6 (0.24")
PE100 | 4" [169(6.65") 56 (2.2") [38.5(152") PT1/4 [103(4.05"(145(5.71") G115 | 6 (0.24")
PF-125 5" [212(8.35"(69 (2.72")|44 (1.73") PT1/4 [118(4.65")180(7.09") G140 |6 (0.24")
PF-150 | 6"  [248(9.76"| 89 (3.5") |72 (2.83") PT3/8 [181(7.13")220(8.66"| G180 |10 (0.39") F
PF-200| 8"  [310(12.2")115(4.53")|105 (413" PT1/2 [233(9.17")|284(11.18") P235 |10 (0.39") m

I :0s



DIRECTIONAL CONTROL VALVES (PRE-FILL VALVES)

75 50458 il B i3 )

PF_SERIES

4@ DIMENSIONS sizrvs

PF-%F Series

6-M1

6-M12, depth 20
6 hole

2, depth 20

2 J Countersink hole

12- 222 hole

232 Countersink hole

depth 1

16- @22 hol

8-M12, depth 20

e

|
.
HT PLT"D" | W
L T [©]
|
! O-ring "G"
o5 |
MODEL| SIZE A B [ D E F G SCREW QT
PF-80F 3" 180 (7.09") | 43 (1.69") | 65 (2.56") 14 94 (3.7") [146 (5.75")| G80 |Miex55L| 6
PF-90F | 31/2* [200(7.87")| 50 (1.97")| 70 (2.76") 14 | 1194.699] 16565 | G100 |M18xesL| 6
PF-100F| 4" 230 (9.06")| 56 (2.2" | 71(2.8" 14 [1325(5.22 191752 | G115 | M20x70L| 6
F PF-125F 5" 270(10.6")| 69 (2.72") | 85 (3.35") 1/4 165 (6.5") (230 (9.06")| G140 M20 x80L 12
m PF-150F| 6" 300 (11.81")] 89(3.5") [105 (4.13"| 14  |204(8.03)[260(1023" G180 |Mm20x95L| 16

I 07




DIRECTIONAL CONTROL VALVES (PRE-FILL VALVES)
PF SERIES

5E

il B

@ PARTS LIST OF PF- %k SERIES

FFRKER

@ SECTIONa=
PF-*F Series

4@ ACCESSORIES mme#

(S)PF-80
NO | Descripton  |Qty| Specification
9 |HEX COUNTERSINK SCREW| 4 M5 x 851
14 O-ring 2 G80
15 O-ring 1 P4
(S)PF-90
NO | Descripton  |Qty| Specification
9 |HEX COUNTERSINK SCREW| 4 M5 x 70L
14 O-ring 2 G100
15 O-ring 1 P5
(S)PF-100
NO| Description |Qty| Specification
9 |HEX. COUNTERSINK SCREW| 8 M5 x 75L
14 O-ring 2 G115
15 O-ring 1 P5
(S)PF-125
NO| Descripton |Qty| Specification
9 |HEX. COUNTERSINK SCREW| 8 M6 x 90L
14 O-ring 2 G140
15 O-ring 1 P&
(S)PF-150
NO| Descripton  |Qty| Specification
9 [Hex couvTersik scrav| 8 M8 x 1301
14 O-ring 2 G180
15 O-ring 1 P8
(S)PF-200
NO| Description | Qty| Specification
9 [Hex couvTeR sk scRav| 8 M10 x 150L
14 O-ring 2 P235
15 O-ring 1 P10

ACCESSORIES i B® #

PF-80F
NO | Description | Qty| _Specification
1 O-ring 1 GBO
2 O-ring 1 P
3 |HECCONVTERSIKscRal|_6 M5 x 65
4 |reccouviersikscrz| 6 W16 X561
PF-90F
NO | Description | Qty| _Specification
1 O-ring 1 G100
2 O-ring 1 P5
3 |recoouviersikscrz| 6 M5 X 70L
4 |Heccouversikschzi| 6 18 xe5L
PF-100F
NO | Description | Qty| _Specification
1 O-ring 1 G115
2 O-ring 1 P5
3 |reccouviersnkserzn| 8 M5 X 75
4 |recconviersikscrz| 6 M20 x70L
PF-125F
NO | Description | Qty| _Specification
1 O-ring 1 G140
2 O-ring 1 F6
3 |HECCOUVTERSINKSCRE| 8 M6 x 90
4 |reccouviersikscrzn| 12 M20 xB0L
PF-150F
NO | Description | Qty| _Specification
1 O-ring 1 G180 F
2 O-ring 1 P8
3 |Hex couveRsikscRzn| 8 M8 x 1301 m
4 |Hex couVTER SNk scRan| 16 M20 385




